					USA ORD, FL	BARNEY'S PUMPS, INC. HYDROMATIC PUMPS LAKELAND, FL		BARNEY'S PUMPS, INC. HOMA PUMPS LAKELAND, FL		S SUPPLY CO. VENICE, FL		CONT	OM PUMPS & IROLS, INC.	AME	N PUMPS OF RICA, INC. GEPORT, NJ	EQUIP	IN PUMP & MENT, INC.
					23-1731		665-8500		665-8500		484-3738		3) 886-6255		467-3636		671-7000
		EST.			EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED		EXTENDED		EXTENDED
NO.	DESCRIPTION	QTY.	U/M	UNIT PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
	4" Submersible Sewage Pumps capable of		Ĭ									·		1			
1	pumping 600 GPM @ 32' T.D.H. for #12	2	ea	\$3,995.00	\$7,990.00	\$2,194.00	\$4,388.00	\$2,134.00	\$4,268.00	\$2,389 56	\$4,779.12	\$1,841 00	\$3,682.00	NO BID	NO BID	\$4,261.00	\$8,522.00
	4" Submersible Sewage Pumps capable of																
	pumping 320 GPM @ 43' T.D.H. for #14	2	ea	\$2,866 00	\$5,732.00	\$1,736 00	\$3,472 00	\$1,766.00	\$3,532.00	\$2,389 56	\$4,779.12	\$1,841.00	\$3,682.00	NO BID	NO BID	\$4,261.00	\$8,522.00
	4" Submersible Sewage Pumps capable of	_ ا	ļ										ļ.		]		
	pumping 275 GPM @ 35' T.D.H. for #6	2	ea	\$2,394.00	\$4,788.00	\$1,682.00	\$3,364.00	\$1,679.00	\$3,358 00	\$2,240.00	\$4,480.00	\$1,752 00	\$3,504.00	NO BID	NO BID	\$3,985.00	\$7,970.00
	6" Submersible Sewage Pumps capable of	,				*****	47.000.00	** ***	******								
4	pumping 800 GPM @ 35' T.D.H. for #7	2	ea	\$3,990.00	\$7,980.00	\$3,648 00	\$7,296.00	\$3,993.00	\$7,986.00	\$4,791 58	\$9,583 16	\$3,577.00	\$7,154.00	NO BID	NO BID	\$5,270.00	\$10,540.00
5	4" Submersible Sewage Pumps capable of pumping 250 GPM @ 48' T.D.H. for 14-D	2	ea	\$2,866.00	\$5.722.00	\$1,736 00	\$3,472,00	\$1,766.00	\$2.532.00	\$2,389.56	\$4 770 47	\$1,839.00	\$3,678.00	NO BID	NO BID	\$4,261,00	\$8.522 00
	4" Submersible Sewage Pumps capable of		l ca	\$2,800.00	\$3,732.00	ψ1,730 00	\$3,472.00	\$1,700.00	45,332.00	φ2,305.30	\$4,115.12	\$1,009.00	\$3,076.00	NOBID	INO BID	\$4,201.00	\$6,522.00
6	pumping 600 GPM @ 60' T.D.H. for 15-D	2	ea	\$4,682.00	\$9.364.00	\$2,465.00	\$4,930,00	\$2,947.00	\$5,894.00	\$4,791.57	\$9.583.14	\$2,580.00	\$5,160.00	NO BID	NO BID	\$5,270,00	\$10,540 00
<b>⊢</b> •			1		1 7-1	,			1	*	7-,	1	44,144	1	110 5.0	40,270.00	\$10,010.00
1	4" Submersible Sewage Pumps capable of	l	1		•					į.		1		İ	1		
7	pumping 200 GPM @ 25' T.D. H. for 16-D	2	ea	\$3,067.00	\$6,134.00	\$1,553 00	\$3,106.00	\$1,203.00	\$2,406.00	\$2,109 21	\$4,218 42	\$1,578.00	\$3,156.00	NO BID	NO BID	\$2,357.00	\$4,714 00
<u> </u>	4" Submersible Sewage Pumps capable of										1	1		T			
8	pumping 275 GPM @ 25' T.D.H. for 1M-A	2	ea	\$2,167.00	\$4,334.00	\$1,682.00	\$3,364.00	\$1,203.00	\$2,406.00	\$1,998.20	\$3,996.40	\$1,578.00	\$3,156.00	NO BID	NO BID	\$2,357.00	\$4,714.00
	6" Submersible Sewage Pumps capable of																
9	pumping 550 GPM @ 41' T.D.H. for 21-A	2	ea	\$3,990.00	\$7,980.00	\$3,648.00	\$7,296.00	\$3,993.00	\$7,986.00	\$4,791.57	\$9,583.14	\$2,343 00	\$4,686.00	NO BID	NO BID	\$8,528.00	\$17,056.00
	4" Submersible Sewage Pumps capable of	l .											l .	ŀ			
10	pumping 125 GPM @ 27' T.D. H. for 28-A	2	ea	\$2,553.00	\$5,106.00	\$1,553.00	\$3,106.00	\$1,203.00	\$2,406.00	\$2,109.21	\$4,218.42	\$1,604.00	\$3,208.00	NO BID	NO BID	\$2,357.00	\$4,714 00
	4" Submersible Sewage Pumps capable of	,	1					*****		******							
11_	pumping 500 GPM @ 45' T.D. H. for 2-D	1 2	ea	\$3,995.00	\$7,990.00	\$2,465.00	\$4,930.00	\$2,134.00	\$4,268.00	\$2,624.11	\$5,248.22	\$2,390.00	\$4,780.00	NO BID	NO BID	\$5,270.00	\$10,540.00
1 40	4" Submersible Sewage pumps capable of pumping 275 GPM @ 25' T.D. H. for 2-M	2	ea	\$2,167.00	\$4,334.00	\$1.682 00	63 364 UU	\$1,203.00	\$2.406.00	\$1,998,20	\$3 996 AC	\$1,578.00	\$3,156.00	NO BID	NO BID	\$3.985.00	\$7,970 00
12	4" Submersible Sewage Pumps capable of		- ca	\$2,107.00	\$4,334,00	\$1,002.00	\$5,504.50	₩1,203.00	\$2,400.00	\$1,550.20	\$0,550.40	\$1,070.00	93,130.00	INO BID	NO BID	\$3,500.00	\$7,870.00
13	pumping 180 GPM @ 20' T.D. H. for 3-M	2	ea	\$2,553 00	\$5.106.00	\$1,553.00	\$3,106.00	\$1,203 00	\$2,406.00	\$2,109,21	\$4,218,42	\$1,418.00	\$2,836 00	NO BID	NO BID	\$2,216,00	\$4,432 00
1000	4" Submersible Sewage Pumps capable of	<del>                                     </del>	-						1					1			
14	pumping 200 GPM @ 26' T.D.H. for 42-A	2	ea	\$3,067 00	\$6,134.00	\$1,553.00	\$3,106.00	\$1,203 00	\$2,406 00	\$1,998.20	\$3,996.40	\$1,578.00	\$3,156 00	NO BID	NO BID	\$2,357.00	\$4,714 00
	4" Submersible Sewage Pumps capable of							l						1			
15	pumping 120 GPM @ 20' T.D.H. for 4-D	2	ea	\$2,553 00	\$5,106.00	\$1,504.00	\$3,008.00	\$1,203.00	\$2,406 00	\$2,109.21	\$4,218 42	\$1,418.00	\$2,836.00	NO BID	NO BID	\$2,216.00	\$4,432 00
	4" Submersible Sewage Pumps capable of	1	1	1						1					1		
16	pumping 184 GPM @ 46' T.D.H. for 5-D	2	ea	\$2,866 00	\$5,732 00	\$1,736.00	\$3,472.00	\$1,679.00	\$3,358.00	\$2,240.00	\$4,480.00	\$1,726.00	\$3,452.00	NO BID	NO BID	\$3,056.00	\$6,112,00
	4" Submersible Sewage Pumps capable of	١.				l	I	l			1	l	1		1		
17	pumping 280 GPM @ 31' T.D.H. for 7-A	2	ea	\$2,917.00	\$5,834 00	\$1,682 0	\$3,364 00	\$1,203.00	\$2,406.00	\$2,122 10	\$4,244.20	\$1,578.00	\$3,156.00	NO BID	NO BID	\$3,985.00	\$7,970 00
l	6" Submersible Sewage Pumps capable of	1 _		*** 700 0			\$4,388 00	\$3,348.00	#6 602 00	64 704 57	#0.583.4.	\$1,815.00		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		*4.004.50	******
18	pumping 465 GPM @ 42' T.D.H. for 7-D	2	ea	\$3,789 00	\$7,578 00	\$2,194.00	34,388 00	33,348 00	\$6,696.00	\$4,791.57	\$9,563 14	31,513.UC	\$3,630.00	NO BID	NO BID	\$4,261.00	\$8,522 00
1	4" Submersible Sewage Pumps cabpable of pumping 150 GPM @ 25' T.D.H. for Airport		1				1				!		1		1		
19	Industrial Park	2	ea	\$2,553 0	\$5 106 00	\$1,553.0	\$3.106.00	\$1,203.00	\$2.406.00	\$1,998.20	\$3,996.40	\$1,444.00	\$2,888.00	NO BID	NO RID	\$2,216.00	\$4,432 00
III 19	mousinai Park	1 4	Loa	1 WE,000 U	95,100.00	1 #1,555 0	Ψο, 100 00	41,200.00	42,400 00	#1,000.20	40,000 40		42,000.00	110 010	, NO BID	- Vaja 10.00	, wm, 402 00

				ABS SANFO (800) 32	RD, FL	BARNEY'S PUMPS, INC. HYDROMATIC PUMPS LAKELAND, FL (863) 665-8500		BARNEY'S PUMPS, INC. HOMA PUMPS LAKELAND, FL (863) 665-8500		VENICE, FL (941) 484-3738		CONT	M PUMPS & ROLS, INC. MPA, FL	AMER BRIDG	N PUMPS OF UCA, INC. EPORT, NJ 467-3636	EQUIPM HOUS	N PUMP & MENT, INC. TON, TX 671-7000
NO.	DESCRIPTION	EST. QTY.	CI/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT	EXTENDED PRICE	UNIT	EXTENDED PRICE	UNIT	EXTENDED PRICE		EXTENDED PRICE	UNIT	EXTENDED PRICE
	4" Submersible Sewage Pumps capable of pumping 80 GPM @ 15' T.D.H. for Bayou ICondominiums	2	ea	\$2,553.00		\$1,504.00		\$1,203.00	\$2,406.00	\$2,109 21	\$4,218.42	\$1,318.00	\$2,636.00	NO BID	NO BID	\$1,848.00	\$3,696.00
21	4" Submersible Sewage Pumps capable of pumping 250 GPM @ 64; T.D.H. for Bayshore on the Lake	2	ea	\$3,995.00	\$7,990 00	\$2,465.00	\$4,930.00	\$2,512.00	\$5,024.00	\$2,624.11	\$5,248.22	\$2,363.00	\$4,726.00	NO BID	NO BID	\$5,270.00	\$10,540 00
**22	6" Submersible Sewage Pumps capable of pumping 1200 GPM @ 115' T.D.H. for Bayshore Yacht Basin (Add.#1 03/03/09)	3	ea	\$19,933.00	\$59,799.00	\$10,240.00	\$30,720 00	\$8,350.00	\$25,050 00	\$7,005 47	\$21,016.41	\$5,601.00	\$16,803.00	NO BID	NO BID	\$12,023.00	\$36,069 00
23	4" Submersible Sewage Pumps capable of pumping 150 GPM @ 61' T.D.H. for Doraye Villas	2	ea	\$3,722 00	\$7,444.00	\$1,736.00	\$3,472.00	\$2,400.00	\$4,800.00	\$2,389 56	\$4,779.12	\$2,192.00	\$4,384 00	NO BID	NO BID	\$5,270.00	\$10,540.00
**24	6" Submersible Sewage Pumps capable of pumping 800 GPM @110' T.D.H. for El Conquistador 1(Add.#1 / 03/30/09)	3	ea	\$19,391.00	\$58,173.00	\$4,853.00	\$14,559.00	\$6,527.00	\$19,581.00	\$6,749.37	\$20,248.11	\$5,217.00	\$15,651.00	NO BID	NO BID	\$12,023.00	\$36,069 00
**25	4" Submersible Sewage Pumps capable of pumping 220 GPM @ 102' T.D.H. for Foster's Grove - Vortex Impeller Pumps (Add. #1 / 03/30/09)	2	ea	\$8,188 00	\$16,376.00	\$3,928.00	\$7,856.00	\$3,628.00	\$7,256.00	\$2,624 10	\$5,248.20	\$3,920.00	\$7,840.00	NO BID	NO BID	\$7,090.00	\$14,180.00°
26	4" Submersible Sewage Pumps capable of pumping 300 GPM @ 81' T.D.H. for Glenn Lakes 1	2	ea	\$4,724.00	\$9,448.00	\$2,720.00	\$5,440 00	\$2,947.00	\$5,894.00	\$2,624.10	\$5,248.20	\$3,863.00	\$7,726.00	NO BID	NO BID	\$6,009.00	\$12,018 00
27	4" Submersible Sewage Pumps capable of pumping 105 GPM @ 31' T.D.H. for Glenn Lakes 2	2	ea	\$2,640 00	\$5,280,00	\$1,553.0	\$3,106.00	\$1,203.00	\$2,406.00	\$2,109.21	\$4,218.42	\$1,604.00	\$3,208.00	NO BID	NO BID	\$2,357.00	\$4,714.00
28_	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 32' T.D.H. for Harbor Woods	2	ea	\$3,067.00	\$6,134.00	\$1,553.0	\$3,106.00	\$1,203.00	\$2,406.00	\$1,998.20	\$3,996.40	\$1,604.00	\$3,208.00	NO BID	NO BID	\$2,357.00	\$4,714 00
29	4" Submersible Sewage Pumps capable of pumping 140 GPM @ 28' T.D.H. for Henson Industrial Park	2_	ea	\$3,067.00	\$6,134.00	\$1,553.0	\$3,106.00	\$1,203.00	\$2,406.00	\$2,109.2	\$4,218.42	\$1,578.00	\$3,156.00	NO BID	NO BID	\$2,357.00	\$4,714.00
30	4" Submersible Sewage Pumps capable of pumping 200 GPM @ 35' T.D.H. for Kay Road	2	ea	\$2,917 00	\$5,834 00	\$1,682.0	0 \$3,364.00	\$1,203.00	\$2,406.00	\$2,122.10	\$4,244.20	\$1,604.00	\$3,208.00	NO BID	NO BID	\$3,985 00	\$7,970.00
31	5" Submersible Sewage Pumps capable of pumping 1427 GPM @59' T.D.H. for Lakewood Ranch Riverwalk	3	ea	\$15,980.00	\$47,940.00	\$4,656.0	0 \$13,968.00	\$5,398.00	\$16,194.00	\$6,612.4	2 \$19,837.26	\$4,639.00	\$13,917.00	NO BID	NO BID	\$11,130 00	\$33,390 00

														· ·			
							Y'S PUMPS, DROMATIC	BARNES	Y'S PUMPS.	COAS	T PUMP &	CUSTO	M PUMPS &	GODWI	N PUMPS OF	GRIFFI	N PUMP &
				ABS	USA		UMPS		MA PUMPS		PLY CO.		ROLS, INC.		RICA, INC.		MENT, INC.
				SANFO	RD, FL	LAKE	LAND, FL	LAKE	LAND, FL	VEN	ICE, FL	TA	MPA, FL	BRIDG	EPORT, NJ	HOUS	TON, TX
				(800) 3			665-8500		665-8500		484-3738		886-6255		467-3636		671-7000
		EST.			EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED		EXTENDED		EXTENDED
NO.	DESCRIPTION	QTY.	U/M	UNIT PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
	4" Submersible Sewage Pumps capable of		'														Į.
	pumping 200 GPM @ 23' T.D.H. for Manasota Industrial Park	2	ea	\$2,553.00	\$5 106 00	\$1,553.00	\$3,106.00	\$1,203 00	\$2 406 00	\$1,998.21	\$3,996.42	\$1,444 00	\$2,888.00	NO BID	NO BID	\$2,216.00	\$4,432.00
	4" Submersible Sewage Pumps capable of	<del></del>	- 04	\$2,555.00	\$5,100.00	Ψ1,555.55	40,100 00	Ψ1,200 00	<b>V</b> 2, 100 00	<b>\$1,555.21</b>	40,000 42	\$1,444.00	<b>42,000.00</b>	110 515	110 210	\$2,2.000	\$1,102.00
	pumping 100 GPM @ 38' T.D.H. for Mill Creek										į			ļ			
33	2	2	ea	\$2,167.00	\$4,334 00	\$1,682 00	\$3,364 00	\$1,203.00	\$2,406.00	\$1,998.20	\$3,996.40	\$1,604.00	\$3,208.00	NO BID	NO BID	\$2,357 00	\$4,714 00
	4" Submersible Sewage Pumps capable of			·	]									1			
	pumping 100 GPM @ 46' T.D.H. for Mill Creek	2	ea	\$2,394.00	£4.700.00	\$1,682.00	¢3.364.00	\$1,679.00	#2 250 AN	\$2,122.10	\$4.244.20	\$1,604.00	\$3,208,00	NO BID	NO BID	\$3,056.00	\$6,112.00
34	4" Submersible Sewage Pumps capable of		ea	\$2,394.00	\$4,766,00	\$1,002.00	\$3,364.00	\$1,079.00	\$3,336 00	\$2,122.10	\$4,244.20	\$1,004.00	\$3,206.00	NO BID	NOBID	\$3,030.00	\$4,112.00
	pumping 930 GPM @ 101' T.D.H. for		ŀ														
35	Missionary Village	2	ea	\$14,133.00	\$28,266 00	\$4,382.00	\$8,764.00	\$4,992.00	\$9,984.00	\$6,932.51	\$13,865.02	\$4,972.00	\$9,944.00	NO BID	NO BID	\$12,023.00	\$24,046.00
	4" Submersible Sewage Pumps capable of				1							١.					
36	pumping 315 GPM @ 53' T.D.H. for N7-A	2	ea	\$3,995.00	\$7,990.00	\$2,194 00	\$4,388.00	\$2,134.00	\$4,268 00	\$2,624.10	\$5,248.20	\$2,319.00	\$4,638 00	NO BID	NO BID	\$5,270 00	\$10,540.00
	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 28' T.D.H. for Palm Aire											1					
37	la	2	ea	\$2,553.00	\$5,106.00	\$1,553.00	\$3,106.00	\$1,203.00	\$2,406.00	\$2,109.21	\$4,218.42	\$1,578.00	\$3,156.00	NO BID	NO BID	\$2,216.00	\$4,432.00
	4" Submersible Sewage Pumps capable of								,								
	pumping 210 GPM @ 115' TD.H. for River		1	]	1		•			ĺ							
1	Wilderness 3 - Vortex Impeller Pumps	l		1		ļ		ļ									
**38	(Add. #1 / 03/30/09)	2	ea	\$8,949.00	\$17,898.00	\$3,950 00	\$7,900.00	\$3,628.00	\$7,256.00	\$5,400.88	\$10,801.72	\$3,884 00	\$7,768.00	NO BID	NO BID	\$7,090.00	\$14,180.00
1	4" Submersible Sewage Pumps capable of pumping 300 GPM @ 63' T.D.H. for River			1	l		ł				1						l i
	Wilderness 5	2	ea	\$4,119.00	\$8,238,00	\$2,465.00	\$4,930.00	\$2,512.00	\$5,024.00	\$2,624.10	\$5,248.20	\$2,390,00	\$4,780.00	NO BID	NO BID	\$5,270.00	\$10,540.00
<u></u> -	4" Submersible Sewage Pumps capable of		1														
ŀ	pumping 120 GPM @ 37' T.D.H. for Riverview			1				ŀ		]	i						
40	Landings	2	ea	\$2,167.00	\$4,334.00	\$1,682 00	\$3,364.00	\$1,203.00	\$2,406 00	\$2,122.10	\$4,244 20	\$1,578.00	\$3,156 00	NO BID	NO BID	\$2,357 00	\$4,714 00
l	4" Submersible Sewage Pumps capable of	2	ea	\$3,067.00	46 134 00	\$1,682.00	\$3.364.00	\$1,203,00	\$2.406.00	\$2,109 21	\$4.219.42	\$1,578.00	\$3,156.00	NO BID	NO BID	\$2,357.00	\$4,714,00
41_	pumping 100 GPM @ 35' T.D.H. for S-4 4" Submersible Sewage Pumps capable of		ea	\$3,067.00	\$0,134.00	\$1,002.UL	93,304.00	\$1,203.00	\$2,400.00	WE, 100 Z1	¥7,21842	\$1,575.00	95,150,00	NO BID	INO BID	¥2,337 00	ψ <del>4</del> ,7 14,00
1	pumping 240 GPM @ 22' T.D.H. for San					1		i			1		1		[		
42	Remo	2	ea	\$2,553.00	\$5,106 00	\$1,553 00	\$3,106 00	\$1,203 00	\$2,406.00	\$2,109 21	\$4,218.42	\$1,578 00	\$3,156.00	NO BID	NO BID	\$2,357 00	\$4,714.00
	4" Submersible Sewage Pumps capable of				1		1				1		1				
	pumping 100 GPM @ 14' T.D.H. for Saunders	2	1	40 550 00		\$1,504.00	#2.000.00	\$1,203.00	#1 40° 00	\$2,109.21	\$4.210.42	\$1,318 00	\$2,636.00	NO BID	NO BID	\$1.848.00	\$3,696.00
43_	Rd. Industrial Park  4" Submersible Sewage Pumps capable of	1 2	ea	\$2,553.00	\$5,106.00	a 1,304 00	\$3,008.00	\$1,203.00	φ2,406.00	92,109.21	94,210.42	\$1,310,00	ψ2,636.00	NO BID	NO BID	¥1,046.00	\$3,090.00
	pumping 180 GPM @ 27' T.D.H. for Spanish		i						1						1		
44	Park	2	ea	\$3,067.00	\$6,134.00	\$1,553.0	\$3,106.00	\$1,203 00	\$2,406.00	\$1,998 20	\$3,996.40	\$1,578.00	\$3,156 00	NO BID	NO BID	\$2,357 00	\$4,714 00
	4" Submersible Sewage Pumps capable of								1					1			
1	pumping 425 GPM @ 25' T.D.H. for State							44 000		1 000000		** ***	** ***	NO 515	NO 515	** ***	47.070.00
45	Road 70	2	ea	\$2,917.00	\$5,834 00	\$1,682.0	J \$3,364 00	\$1,203.00	\$2,406.00	\$2,240.00	\$4,480.00	\$1,604.00	\$3,208 00	NO BID	1 NO BID	\$3,985.00	\$7,970 00

						BARNEY'S PUMPS, INC. HYDROMATIC			Y'S PUMPS,	COAS	T PUMP &	CUSTO	M PUMPS &	GODWI	N PUMPS OF	GRIFF	IN PUMP &
				ABS	USA	PI	UMPS	INC. HO	MA PUMPS	SUP	PLY CO.	CONT	ROLS, INC.	AME	RICA, INC.	EQUIP	MENT, INC.
				SANFO	RD, FL		LAND, FL		LAND, FL		ICE, FL		MPA, FL		EPORT, NJ		STON, TX
				(800) 3	23-1731		665-8500		665-8500		484-3738		886-6255		467-3636		671-7000
NO	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	PRICE	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE	PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
46	4" Submersible Sewage Pumps capable of pumping 400 GPM @ 40' T.D.H. for Tara 6	2	ea	\$3,995.00	\$7,990.00	\$2,194 00	\$4,388 00	\$1,766,00	\$3,532.00	\$2,389 56	\$4,779 12	\$1,841.00	\$3,682.00	NO BID	NO BID	\$4,261.00	\$8,522 00
47	4" Submersible Sewage Pumps capable of pumping 300 GPM @ 23' T D.H. for Timberlake	2	ea	\$2,167.00	\$4,334.00	\$1,682.00	\$3,364.00	\$1,203.00	\$2,406.00	\$1,998.20	\$3,996.40	\$1,578.00	\$3,156 00	NO BID	NO BID	\$2,357.00	\$4,714 00
	4" Submersible Sewage Pumps capable of pumping 155 GPM @ 26' T.D.H. for Travler's Oasis	2	ea	\$2,553 00	\$5,106.00	\$1,553.00	\$3,106.00	\$1,203.00	\$2,406.00	\$2,109 21	\$4,218.42	\$1,604.00	\$3,208.00	NO BID	NO BID	\$2,357 00	\$4,714.00
	TOTAL PRICE:				\$485,522.00		\$241,365.00		\$228,249.00		\$296,491.40		\$225,523.00		NO BID		\$451,020.00

#### DEVIATIONS FROM PUMP SPECIFICATIONS

In the event of multiplication/extension error(s), the unit price shall prevail. In the event of addition error(s) the extension totals will prevail. All bids shall be reviewed mathematically and corrected, if necessary, using these standards, prior to additional evaluation.

			1						<del></del>						· · · · · · · · · · · · · · · · · · ·		
				umec	N PUMP &		VATER & EWATER.	MADED	ELECTRIC					TAMBA	ARMATURE		
					IPMENT		UDA LLC		OTORS	POWE	R & PUMPS	PX PIIM	PS USA, LLC		RKS, INC.	SOUTHE	ASTERN PUMP
					LAND, FL		PKA, FL		MYERS, FL		NVILLE, FL		ORD, FL		RVIEW. FL		UDERDALE, FL
					665-7867		880-2900		731-5455		356-5881		936-2570		621-5661		583-3303
		EST.			EXTENDED		EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED
NO.	DESCRIPTION	QTY.	U/M	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
	4" Submersible Sewage Pumps capable of	Ì															
1	pumping 600 GPM @ 32' T.D.H. for #12	2	ea	\$3,185.00	\$6,370.00	\$5,480.00	\$10,960.00	\$2,945.65	\$5,891.30	\$3,566.00	\$7,132.00	\$3,667.95	\$7,335.90	\$2,577.00	\$5,154.00	\$2,571.84	\$5,143 68
	4" Submersible Sewage Pumps capable of	T															
2	pumping 320 GPM @ 43' T.D.H. for #14	2	ea	\$3,185.00	\$6,370.00	\$4,845.00	\$9,690.00	\$2,709.78	\$5,419.56	\$3,280.00	\$6,560.00	\$3,667.95	\$7,335.90	\$2,466.00	\$4,932.00	\$2,571.84	\$5,143.68
	4" Submersible Sewage Pumps capable of		ĺ														
	pumping 275 GPM @ 35' T.D.H. for #6	2	ea	\$1,975.00	\$3,950.00	\$3,807.00	\$7,614.00	\$1,134.78	\$2,269.56	\$1,526.00	\$3,052.00	\$2,075.29	\$4,150.58	\$2,133.00	\$4,266.00	\$2,166.91	\$4,333.82
	6" Submersible Sewage Pumps capable of		1	Į.					1		ļ					ļ	
4	pumping 800 GPM @ 35' T.D.H. for #7	2	ea	\$3,414.00	\$6,828.00	\$8,356.00	\$16,712.00	\$3,118.48	\$6,236.96	\$3,775.00	\$7,550.00	\$4,807.69	\$9,615.38	\$4,300.00	\$8,600.00	\$2,845.44	\$5,690.88
Ì	4" Submersible Sewage Pumps capable of	l _														i	
5	pumping 250 GPM @ 48' T.D.H. for 14-D	2	ea	\$2,982.00	\$5,964.00	\$4,845.00	\$9,690.00	\$2,047.83	\$4,095.66	\$2,755.00	\$5,510.00	\$3,224.31	\$6,448.62	\$2,466.00	\$4,932.00	\$2,571.84	\$5,143.68
l .	4" Submersible Sewage Pumps capable of													l		l	
6	pumping 600 GPM @ 60' T.D.H. for 15-D	2	ea	\$3,211.00	\$6,422.00	\$8,425.00	\$16,850.00	\$3,071.74	\$6,143.48	\$3,718.00	\$7,436.00	\$6,140.48	\$12,280.96	\$4,133.00	\$8,266.00	\$2,571.84	\$5,143.68
	4" Submersible Sewage Pumps capable of		1	1													
1 7	pumping 200 GPM @ 25' T.D. H. for 16-D	2	ea	\$1,696.00	en 200 00	\$3,248.00	80 400 00	\$1,080.43	\$2 160 88	\$1,453.00	en one on	\$2,075 29	*4 150 50	\$1,911.00	#2 P22 00	\$2,166.91	64 222 90
<b>-</b>		-	ea	\$1,696.00	\$3,392.00	\$3,246.00	\$6,496.00	\$1,000.43	\$2,160.66	\$1,453.00	\$2,900,00	\$2,075.29	\$4,150.58	\$1,911.00	\$3,822.00	\$2,166.91	\$4,333.82
8	4" Submersible Sewage Pumps capable of pumping 275 GPM @ 25' T.D.H. for 1M-A	2	ea	\$1,696.00	\$2 202 00	\$3,807.00	87 614 00	\$1,080.43	\$2.160.86	\$1,453.00	\$2,906.00	\$2,075.29	£4 150 50	\$2,133,00	<b>64 366 00</b>	\$1,696.32	\$3,392 64
F .	6" Submersible Sewage Pumps capable of	+ -	- ca	\$1,080.00	\$3,352.00	\$3,007.00	\$7,614.00	91,000.40	\$2,100.00	ψ1,403.00	\$2,800.00	\$2,070.20	\$4,100.00	92,133.00	φ4,200.00	\$1,090.32	\$3,382 64
9	pumping 550 GPM @ 41' T.D.H. for 21-A	2	ea	\$3,211.00	\$6,422,00	\$5,232.00	\$10.464.00	\$2,992.39	\$5 984 78	\$3,622.00	\$7 244 00	\$5,308.88	\$10.617.76	\$4,300.00	\$8,600,00	\$2,845.44	\$5,690.88
-	4" Submersible Sewage Pumps capable of	<del> </del>	100	90,211.00	45,122,50	40,202.00	\$10,101.55	42,002.00	40,00	40,022,00	VI,E11.55	40,000.00	410,011.10	41,000.00	40,000.00	<b>\$2,040.44</b>	\$0,000.00
10	journoing 125 GPM @ 27' T.D. H. for 28-A	2	ea	\$1,249.00	\$2,498,00	\$3,113.00	\$6,226.00	\$968.48	\$1,936.96	\$1,303.00	\$2,606.00	\$2,075.29	\$4,150.58	\$1,911.00	\$3,822.00	\$2,166,91	\$4,333.82
1	4" Submersible Sewage Pumps capable of	<del>                                     </del>	T	1 3												7-11	* 1,1
11	pumping 500 GPM @ 45' T.D. H. for 2-D	2	lea	\$3,211.00	\$6,422.00	\$5,480.00	\$10,960.00	\$2,867.39	\$5,734.78	\$3,471.00	\$6,942.00	\$3,667.95	\$7,335.90	\$2,577.00	\$5,154.00	\$2,571.84	\$5,143.68
	4" Submersible Sewage pumps capable of		1														
12	pumping 275 GPM @ 25' T.D. H. for 2-M	2	ea	\$1,886.00	\$3,772.00	\$3,807.00	\$7,614.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$2,133.00	\$4,266 00	\$1,696.32	\$3,392.64
	4" Submersible Sewage Pumps capable of		1														
13	pumping 180 GPM @ 20' T.D. H. for 3-M	2	ea	\$1,886.00	\$3,772.00	\$3,673 00	\$7,346.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$1,911 00	\$3,822.00	\$1,641.60	\$3,283.20
	4" Submersible Sewage Pumps capable of			]				[								[	
14	pumping 200 GPM @ 26' T.D.H. for 42-A	2	ea	\$1,696.00	\$3,392.00	\$3,248.00	\$6,496,00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$1,911.00	\$3,822.00	\$1,696.32	\$3,392.64
	4" Submersible Sewage Pumps capable of	!	1				}					l	l			1	
15	pumping 120 GPM @ 20' T.D.H. for 4-D	2	ea	\$1,249.00	\$2,498.00	\$3,113.00	\$6,226.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$3,633.00	\$7,266.00	\$1,641.60	\$3,283.20
l	4" Submersible Sewage Pumps capable of	1 _	1														l
16	pumping 184 GPM @ 46' T.D.H. for 5-D	2	ea	\$1,682.00	\$3,364.00	\$4,930.00	\$9,860.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$3,224.31	\$5,448.62	\$2,466.00	\$4,932.00	\$2,571.84	\$5,143.68
	4" Submersible Sewage Pumps capable of	2		** 600 A	d #2 772 00	\$3,807.00	#7.644.00	\$1,080.43	#2 460 0G	\$1,453.00	*********	\$2,075.29	84 450 50	\$2,133 00	44 266 00	*******	64 222 22
17	pumping 280 GPM @ 31' T.D.H. for 7-A		ea	\$1,886.00	#3,772.00	\$3,807.UL	a/,614.00	\$1,000.43	92,160.66	φ1,453.00	92,905.00	92,0/5.28	94,150.58	32,133 00	\$4,266.00	\$2,166.91	\$4,333 82
40	6" Submersible Sewage Pumps capable of	2	ea	\$2,854.00	\$5.709.00	\$5,232.00	810 484 00	\$2,945 65	\$5,801.30	\$3,566,00	\$7 132 00	\$5,115.83	\$10 231 66	\$4,300.00	88 800 00	\$2,845.44	\$5,690 88
18_	pumping 465 GPM @ 42' T.D.H. for 7-D 4" Submersible Sewage Pumps cabpable of	+	l ea	\$2,004.00	90,708.00	90,20200	a 10,404 00	92,043 00	Ψυ,021.30	\$3,300.00	97,132.00	φυ, 1 1J.03	φ10,231.00	\$4,300.00	\$0,000.00	92,045.44	99,090,88
1	pumping 150 GPM @ 25' T.D.H. for Airport			1	1	1					1	1	i		1	}	
19	Industrial Park	2	ea	\$1,339 00	\$2,678.00	\$3,113.00	\$6 226 00	\$1,080 43	\$2.160.88	\$1,453.00	\$2,906,00	\$2,075 29	\$4 150 58	\$1,911 00	\$3,822,00	\$1,641.60	\$3,283,20
19	Illiuusiilai Fark	<u></u>	1 00	1 41,000 00	71 92,070.00	40,110.00	1 40,220.00	4.,000 40	, JI, 100 00	1 4.,400.00	, VZ,300.0D	42,570 25	44,100,00	1 47,31100	1 40,022.00	1 41,041.00	93,203.20j

			HUDSON PUMP & EQUIPMENT LAKELAND, FL (863) 665-7867		ITT WATER & WASTEWATER, FLORIDA LLC APOPKA, FL (407) 880-2900		MC N FT. I	ELECTRIC DTORS MYERS, FL	JACKSO	R & PUMPS DNVILLE, FL	SANI	PS USA, LLC FORD, FL 1936-2570	WOI RIVEI	ARMATURE RKS, INC. RVIEW, FL	FORT LA	ASTERN PUMP UDERDALE, FL	
NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
20	4" Submersible Sewage Pumps capable of pumping 80 GPM @ 15' T.D.H. for Bayou Condominiums	2	ea	\$1,262.00	\$2,524.00	N/A	N/A	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$3,633.00	\$7,266.00	\$1,641.60	\$3,283.20
	4" Submersible Sewage Pumps capable of pumping 250 GPM @ 64; T.D.H. for Bayshore on the Lake	2	ea	\$3,084.00	\$6,168.00	\$5,480.00	\$10,960.00	\$2,709.78	\$5,419.56	\$1,453.00	\$2,906.00	\$3,667.95	\$7,335.90	\$2,577.00	\$5,154.00	\$1,641.60	\$3,283.20
	6" Submersible Sewage Pumps capable of pumping 1200 GPM @ 115' T.D.H. for Bayshore Yacht Basin (Add #1 03/03/09)	3	ea	\$10,488.00	\$31,464.00	\$22,292.00	\$66,876.00	\$11,913.04	\$35,739.12	\$14,421.00	\$43,263.00	\$14,521 44	\$43,564.32	\$15,833.00	\$47,499,00	\$5,860 51	\$17,581.53
	4" Submersible Sewage Pumps capable of pumping 150 GPM @ 61' T.D.H. for Doraye Villas	2	ea	\$3,084.00	\$6,168.00	\$5,480.00	\$10,960.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$3,667.95	\$7,335.90	\$2,577.00	\$5,154.00	\$2,571.84	\$5,143.68
**24	6" Submersible Sewage Pumps capable of pumping 800 GPM @110' T.D.H. for El Conquistador 1(Add.#1 / 03/30/09)	3	ea	\$6,946.00	\$20,838.00	\$17,837.00	\$53,511.00	\$12,806.52	\$38,419 56	\$15,503.00	\$46,509.00	\$11,937.54	\$35,812.62	\$15,833.00	\$47,499.00	\$5,855.04	\$17,565.12
**25	4" Submersible Sewage Pumps capable of pumping 220 GPM @ 102' T.D.H. for Foater's Grove - Vortex Impeller Pumps (Add. #1 / 03/30/09)	2	ea	\$4,881.00	\$9 762 00	\$9.730.00	\$19.460.00	\$5,896,74	\$11,793,48	\$7,138.00	\$14,276.00	\$6,140.48	\$12,280.98	\$4,450.00	\$8,900.00	\$3,688.13	\$7,376.26
	4" Submersible Sewage Pumps capable of pumping 300 GPM @ 81' T.D.H. for Glenn Lakes 1	2	ea			\$9,195.00		\$2,867.00		\$3,471.00		\$6,140.48	\$12,280.96	\$4,133.00	\$8,266.00	\$3,688.13	\$7,376.26
27	4" Submersible Sewage Pumps capable of pumping 105 GPM @ 31' T.D.H. for Glenn Lakes 2	2	ea	\$1,339.00	\$2,678.00	\$3,248.00	\$6,496.00	\$968.46	\$1,936.96	\$1,303.00	\$2,606.00	\$2,075.29	\$4,150.58	\$1,911.00	\$3,822.00	\$1,641.60	\$3,283.20
28	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 32' T.D.H. for Harbor Woods	2	ea	\$1,339.00	\$2,678.00	\$3,248.00	\$6,496.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150 58	\$1,911.00	\$3,822.00	\$1,641.60	\$3,283.20
29	4" Submersible Sewage Pumps capable of pumping 140 GPM @ 28' T.D.H. for Henson Industrial Park	2	ea	\$1,248.00	\$2,496.00	\$3,248 00	\$6,496.00	\$1,080,43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150 58	\$1,911.00	\$3,822.00	\$1,641.60	\$3,283.20
30	4" Submersible Sewage Pumps capable of pumping 200 GPM @ 35' T.D.H. for Kay Road	2	ea	\$1,784.00	\$3,568.00	\$3,807.00	\$7,614.00	\$1,080.43	\$2,160.66	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$2,133.00	\$4,266.00	\$2,166.91	\$4,333 82
31	6" Submersible Sewage Pumps capable of pumping 1427 GPM @59' T.D.H. for Lakewood Ranch Riverwalk	3	ea	\$6,895.00	\$20,685.00	\$13,765.0	\$41,295.00	\$12,184.78	\$36,554.34	\$14,750 00	\$44,250.00	\$8,676.11	\$26,028 33	\$6,425.00	\$19,275.00	\$3,688.13	\$11,064.39

				EQU LAKE	ON PUMP & IPMENT LAND, FL	ITT WATER & WASTEWATER, FLORIDA LLC APOPKA, FL (407) 880-2900		MADER ELECTRIC MOTORS N FT. MYERS, FL (239) 731-5455		POWER & PUMPS JACKSONVILLE, FL (904) 356-5881		SANI	PS USA, LLC FORD, FL	WOI RIVE	ARMATURE RKS, INC. RVIEW, FL	FORT LA	ASTERN PUMP UDERDALE, FL
					665-7867								936-2570		621-5661		1) 583-3303
NO.	DESCRIPTION	EST. QTY.	U/M	UNIT PRICE	PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	PRICE	PRICE	PRICE	EXTENDED PRICE
32	4" Submersible Sewage Pumps capable of pumping 200 GPM @ 23' T.D.H. for Manasota Industrial Park	2	ea	\$1,975.00	\$3,950.00	\$3,113.00	\$6,226.00	\$1,080.43	\$2,160 86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$1,911.00	\$3,822 00	\$1,641.60	\$3,283.20
33	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 38' T.D.H. for Mill Creek 2	2_	ea	\$1,772.00	\$3,544.00	\$3,113.00	\$6,226.00	\$968.48	\$1,936.96	\$1,303.00	\$2,606.00	\$2,075.29	\$4,150.58	\$2,133.00	\$4,266.00	\$1,696.32	\$3,392.64
	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 46' T.D.H. for Mill Creek 3	2	ев	\$1,772.00	\$3,544.00	N/A	N/A	\$1,080 43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150 58	\$2,133.00	\$4,266.00	\$2,166.91	\$4,333.82
35	4" Submersible Sewage Pumps capable of pumping 930 GPM @ 101' T.D.H. for Missionary Village 4" Submersible Sewage Pumps capable of	2	ea	\$6,946 00	\$13,892.00	\$16,774.00	\$33,548.00	\$12,806.52	\$25,613.04	\$15,503.00	\$31,006.00	\$11,766.77	\$23,533.54	\$8,525.00	\$17,050.00	\$5,198.40	\$10,396,80
36	pumping 315 GPM @ 53' T.D.H. for N7-A	2	еа	\$2,982.00	\$5,964.00	\$5,480.00	\$10,960 00	\$1,130.43	\$2,260.86	\$1,521.00	\$3,042.00	\$3,667.95	\$7,335.90	\$2,577.00	\$5,154.00	\$2,571.84	\$5,143.68
37	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 28' T.D.H. for Palm Aire 4	2	ea	\$1,249.00	\$2,498.00	\$3,113.00	\$8,226.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$1,911.00	\$3,822.00	\$1,641.60	\$3,283.20
**38	4" Submersible Sewage Pumps capable of pumping 210 GPM @ 115' TD.H. for River Wilderness 3 - Vortex impeller Pumps (Add, #1 / 03/30/09)	2	ea	\$4.881.00	\$9.762.00	\$9,258.00	\$18.516.00	\$5,282.61	\$10.565.22	\$6,395,00	\$12 790 00	\$5,123.25	\$10.246.50	\$4,678.00	\$9.356.00	\$3,688.13	\$7,376.26
39	4" Submersible Sewage Pumps capable of pumping 300 GPM @ 63' T.D.H. for River Wilderness 5	2	ea			\$5,480.00		\$1,130.43		\$1,521.00		\$4,807.69		\$2,577.00		\$2,571.84	
40	4" Submersible Sewage Pumps capable of pumping 120 GPM @ 37' T.D.H. for Riverview Landings	2	ea	\$1,682.00	\$3,364,00	\$3,807.00	\$7,614.00	\$968,46	\$1,936,96	\$1,303.00	\$2,606,00	\$2,075.29	\$4,150,58	\$2,133.00	\$4 266 00	\$1,696.32	\$3,392.64
41	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 35' T.D.H. for S-4	2	ea	\$1,696.00						\$1,303.00		\$2,075.29		\$2,133.00		\$1,696.32	
42	4" Submersible Sewage Pumps capable of pumping 240 GPM @ 22' T.D.H. for San Remo	2		\$1,886.00		\$3,113.00		\$1,080.43		\$1,453.00		\$2,075 29		\$2,467 00		\$1,641.60	
43	4" Submersible Sewage Pumps capable of pumping 100 GPM @ 14' T.D.H. for Saunders Rd. Industrial Park	2	ea					\$1,080.43		\$1,453.00		\$2,075.29		\$3,633.00		\$1,641.60	
44	4" Submersible Sewage Pumps capable of pumping 180 GPM @ 27' T.D.H. for Spanish Park	2	ea	\$1,696.00	\$3,392.00	\$3,248.00	\$6,496.00	\$1,080.43	\$2,160.86	\$1,453.00	\$2,906 00	\$2,075.29	<b>\$4</b> ,150 58	\$1,911.00	\$3,822.00	\$1,641.60	
45	4" Submersible Sewage Pumps capable of pumping 425 GPM @ 25' T.D H. for State Road 70	2	ea	\$1,975.00	\$3,950.00	\$3,638.00	\$7,276.00	\$1,134.78	\$2,269 56	\$1,526.00	\$3,052 00	\$2,075 29	\$4,150 58	\$2,133.00	\$4,266 00	\$2,166.91	\$4,333.82

							VATER &								. DEFARITED		
					N PUMP &	WASTEWATER,			ELECTRIC OTORS	DOWE	R & PUMPS	DV DIM	PS USA, LLC		ARMATURE RKS, INC.	SOUTHE	ASTERN PUMP
					IPMENT		RIDA LLC				NVILLE, FL		FORD, FL				UDERDALE, FL
					LAND, FL 665-7867		PKA, FL 880-2900		MYERS, FL 731-5455		356-5881		936-2570	-	621-5661		) 583-3303
		EST.		UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED		EXTENDED		EXTENDED
NO.	DESCRIPTION	QTY.	U/M	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
	4" Submersible Sewage Pumps capable of																
46	pumping 400 GPM @ 40' T.D.H. for Tara 6	2	ea	\$3,186.00	\$6,372 00	\$4,845 00	\$9,690.00	\$2,047.83	\$4,095.66	\$2,888.00	\$5,776 00	\$3,667.95	\$7,335 90	\$2,577 00	\$5,154 00	\$2,571.84	\$5,143 68
	4" Submersible Sewage Pumps capable of			!			[										
	pumping 300 GPM @ 23' T.D.H. for	ا ا	ea	\$1,886 00	\$2,772.00	\$3,638,00	\$7.276.00	\$1,080,43	\$2.160.86	\$1,453.00	\$2 906 00	\$2,075.29	\$4 150 58	\$2,133 00	\$4 266.00	\$1,696 32	\$3,392,64
47	Timberlake 4" Submersible Sewage Pumps capable of		ea	\$1,000.00	\$3,172.00	45,050,00	\$1,210.00	\$1,000,40	\$2,100.00	\$1,500.00		42,070.20	7,,,,,,,,,				
	pumping 155 GPM @ 26' T.D.H. for Travler's			l			1			İ				Ì		1	
48	Oasis	2	ea	\$1,339 00	\$2,678.00	\$3,638 00	\$7,276.00	\$1,080 43	\$2,160.86	\$1,453.00	\$2,906.00	\$2,075.29	\$4,150.58	\$1,911 00	\$3,822.00	\$1,641.60	\$3,283 20
	TOTAL PRICE:				\$287,881.00		\$568,192.00		\$285,616.36		\$352,374.00		\$392,422.57		\$362,307.00		\$247,296.08
	I TOTAL FRICE.	1	100000		34201,001.00	li de la constanción de la constanción de la constanción de la constanción de la constanción de la constanción	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	1	44				,		-	***************************************	

#### DEVIATIONS FROM PUMP SPECIFICATIONS

In the event of multiplication/extension error(s), the unit price shall prevail. In the event of addition error(s) the extension totals will prevail. All bids shall be reviewed mathematically and corrected, if necessary, using these standards, prior to additional evaluation.

KEYED BY CANOP Richards DATE: 4-15-09

CHECKED BY: Uga Value DATE: 4-17-09